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There are three ways to implement subtypes in the database. All three will be discussed in this lesson. 
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Supertype: A means of classifying an entity that has subtypes. 
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Salary and hourly_rate are both optional, even if the ERD has them as mandatory. Dpt_id can remain 
mandatory, because it comes from the relationship to the supertype EMPLOYEE.  Agy_id comes from a 
relationship to the subtype and has to become optional. 

 

Epe_type is the discriminator column. It can have values of FTE or PTE. 

 

Notice that mgr_id represents the recursive relationship for EMPLOYEE. It is a foreign key column and 
would normally be named epe_id, after the parent table. However, it makes sense to rename it at this 
stage, to make it easier to understand. 
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A note about the OTHER subtype: 

An OTHER subtype is recommended in the conceptual model to ensure that the subtypes are exhaustive. 
However, by the time we start the design phase, we should have done extensive analysis to determine if 
another subtype is truly needed. If so, then this subtype must be named, and its attributes specified. If not, 
then the OTHER subtype is not part of the transformation process. 
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It is elegant and appropriate for most situations and should be considered as the first choice. 

Usually you would create a view for every subtype, showing only the columns that belong to that particular 
subtype. The correct rows are selected using a condition based on the discriminator column. 

 

Views will be discussed later in the course. 
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Subtype: Something an entity may be split into based on common attributes and/or relationships. 
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The original optionality of the attributes and relationships is carried over to the columns and foreign keys, 
so there is no need for a check constraint as there is in the one-table implementation. 

If there were a need to have unique values of the primary key (ID) across both tables, then additional 
programming would be necessary. 
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Id, material, and mnr_id come from attributes in OR relationships to the supertype. Therefore, they appear 
in both tables. 
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Usually you would create an additional view that represents the supertype, showing all columns of the 
supertype and the various subtypes 
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The relationships are 1:1 mandatory and exclusive: 

Each SHIRT must be one piece of CLOTHING. Each SHOE must be one piece of CLOTHING. 

Conversely, each piece of CLOTHING must be either a SHOE or a SHIRT but not both.  
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In this case, it is highly unlikely that an arc implementation would be chosen, and is shown only to 
demonstrate that it is an option to be considered. 

You would need a check constraint on CLOTHING to enforce that (sht_id is not null and she_id is null) OR 
(sht_id is null and she_id is not null). 
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